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1. (a) Find the Taylor series expansion of 1/ about z = 3. Your answer should be in the
form of an infinite series in which the general term is clearly indicated.
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(b) Use your answer to (a) to write down the Taylor polynomial of degree two, To(z),
relative to @ = 3 and the function 1/z.
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2. Given the region R in the zy plane bounded by the graphs of y = 2 — z? and
y = —6 + z2. Find the area of R.
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3. Given the region, D, bounded by the graph of y = 1/sin(2z),0 < z < w/4, and the
lines y = 0,2 = w/4. ,

(a) Find the volume obtained from rotating D about the z axis. You may express your
answer in terms of 7. @
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(b) Set up, do not _evaluate an integral for the volume obtained from rotating D about the
y axis.
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4.(a) A uniform cable hanging over the edge of a tall building is 40 feet long and weighs
60 1bs. How much work is required to pull the cable to the top of the building ?
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(b) How much work is required to pull just 10 feet of the cable to the top of the building?
The other 30 At will be vaised /04t
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5. Find the following integrals. Indicate clearly which integration method you are using.
For example if integration by parts is used, write: let u=...,dv =

a)/ sin® z dx — g”?‘ Silr)a‘()() ( Sln(x_) ﬂb)() f(l—cag ()t])(f}mf)() &‘L)()

O e I e

/ : _, (as(x) e SC«Lb ;“)f'}{ t}} oe[

/ et

/W S
du,“'s.né*)ixf ,_...( ( - 1)(&%)

J

»—..w/’

= f/ (=) du = 2 gol (r-u*) dun

w? 1
—a (u- )= 37
St
LU — Ve
(b)/m Inzdz = 7(/5»0}’))( g X- (ﬂ}
4 0
= AnX dv=X el‘)f\ %Pf A1
’ _ _ ¥
R A Ll
= %) Vs X X




6. Find the following integrals. Indicate clearly which integration technique you are using.
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